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x+D)E+5)=x>+5x+Xx+5=x>+6x+5
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) (a+6)(a+3)= a2+ 3a + ba +18 = a,2+ja +10
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D) (@+bc+dy= ac +ad + Ae + bd

D @+Hpra= P+ pg + SPTSY

6) (2x+1)Bx+5)=6x>+10x+3x+5=6x>+13x+5

) Ga+pla+3)= Sa + ISA +ap + 3p

$) (Tt+6)(5t+8) = 3;{l+ s€+ +30t+ 4P= 351421-(%% + 48
9 (a+3)Ba+d)= ba’+ Ba +9& + 2 = b+ IFa 412

) (11x+3)9x+2) = 362¢z+227( + 27X 6 = gﬁ%z+‘(77‘+g

1) Gx+1)6x+5)=3%+3x+6x+5=3x"+83x+5  (of: 3x* + 8,5x + 5)
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P 2y
& A d g B = I
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14 (Ga+3)Ba+4) = %a,)'+26t+ éa-f% = et gt I+
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5) (10x+30)(90x +20) = Goo X 4 200% + 2700 x + boo = Gookt 2900
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